s /bz — 4ac What part of the Quadratic Formula

X = determines if there are Real solutions
2a or not?

b? - 4ac ———— This is called the DISCRIMINANT

Depending on the value of the DISCRIMINANT
you can determine how many and what kind
of solutions there will be.

What are the only three values the DISCRIMINANT can be?

Negative Zero Positive

Discriminate: recognize a distinction; differentiate

Discriminant # and kind of solutions
b2-4ac>0 2 Real Solutions
b2-4ac=0 1 Real Solution
b2 - 4ac < 0 0 Real Solutions  or

2 Imaginary Solutions




Tell the number of solutions each quadratic equation has and if they
are real or imaginary.

1. x2+8x-3=0 2. 2x2-7x+8 =0
Lt—tac =74 lh*-Yac= /$
W 22X Ao ﬂz«_p
3. -3x%-4x+5=0 4. 2x%-20x+50 =0
R
o™= Yac =7¢ htac=2>
2 Reul
5. 42 +Tx-220 Teoflaat)

bl*gq<3/7 2 Ree

For some of these equations you can tell that there will be 2 Real solutions
without doing anything. Which ones?

How many x-intercepts does each Quadratic Function have?
1. y=9x?-12x + 36 2. y=T7x%+3x-43
lot*fcm—_ sz bitac=/2 13
O X—inT ke i
3. y=6x2-30x+37.5
b= Yac = O
l X~in7

A Quadratic Equation always has two real
solutions if:  b?- 4ac is POSITIVE

b? - 4ac will ALWAYS be Posiitve if:

Either a OR c is negative.

An object is shot into the air from the top of a 80 foot tall building.
The following equation models the height (ft) of the object as a function

of time (sec).
Hime (sec). h(t) = -162 + 172t + 80 (kh)
a) Find the height and the time to reach it.
_(: _ =7z
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b) Find the time to reach the ground G s) 21205

O = e 122t + £
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An object is shot into the air from the top of a 35 foot tall building.
The following equation models the height (ft) of the object as a function

of time (sec). h(t) =-16t2+ 102t + 35
- 2 -
a) Find the time to reach a height of 300 . OF bt wrardy
h=300 b -Yac = —655L
300 = Tty o2t 435 THIS dIECT
300 DoESN T Readn
b) Find the time to reach a height of 50 feet. o hey H;C;Z"H
- _— h=%o
S0 = -6 /02t + 35— -/62 +
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These both wake

Sense. .




